Type a b |[max span width c
ERK 150/ 800 1000 | 800 5000 - dependent on size — Lifting capacity mox. 2000kg
ERK 150/ 1200 1400 ] 1200 /500 of cross beam ~ Driling for cross beam on site
ERK 150/ 1600 1800 | 1600 10000 ~ Recommendation to DIN 997 — Colour: grey primed
ERK 150/ 2000 2200 | 2000 12500
- d -
b
®L9 5
j SO 2 E O ‘T
[t \ o~ |
_ ‘ ‘ s
o e I A e o WHJ
o 6 57 8 9 T2-3-4 14 13
VI ] o s
It 1 ﬁk ——————— il
slzlslal T N o — o B
QeSS — 175 ——
e N ‘ - ‘
B|l8|l8|B -
e e~
Lid [N I [ B
818 | 8| 8| Slotted cheese head screw M8x25 St L8, vz 13 ] 00303505
8 18] 8| 8| Springwasher M8 FSt, vz 12| 90313904
818 | 8] 8 | Washer 84/17x16 St vz 11 ] 00310578
81 8| 8| 8 |Buffer @40x25 SBR 101 9038.4500
818 | 8] 8 | Hexagonnut M8, 08d St8, vz 9 00310008
8 18] 8| 8 |Hexagonnut M6, 0.8d St 8, vz 8 0031.0042
818 | 8] 8 | Washer 17/30x3 St vz T 90313219
8 18] 8] 8| Springwasher M16 FST, vz 6 | 90313804
818 | 8| 8 |Hexagonscrew M16x50 St68, vz 6 | 90305304
Lopbop bop b Pipe R55/35x75 £235 5 | 92L97501L
7 Basic side frame (2000 S7350R b} 926815043
7 Basic side frame  [=1600 S235JR 3 9248.1503.3
2 Basic side frame 121200 S7350R 7| 92481502 3
/| Basic side frame (=800 5735)R 1 924815013
Bezeichnung / Dimension Werkstoff Pos. Artikel-Nr.
Norm freigeben Kissse:  [Ersefzt durch Ersalz fir
RE_V. DATUM USER Basi( side frame SE]L Massstab %@ 1/
s ssweii | Technical datasheet E

EI=

swiss lifting solutions

Revision

924892211 -




